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ΘΕΜΑ 1Ο 
Α. σχ. βιβλίο: απόδειξη 1 σελ. 150 
Β. σχ. βιβλίο: σελ. 65 Αν διαιρέσουμε…. 
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ΘΕΜΑ 2Ο 

4x  

α) 
436

48353621 44332211
4

1

1






 

 x

x

v

vxvxvxvx
vxx

i

i


 

7734359452
13

3215312
4 




 xxxxx

x

x
 

Άρα v2=7 
 
β) ν=20 

          448345743642
20

11 2222
4

1

22  
i

ii vxx
v

S  

20

643724

20

416317164 



  

9,4
20

98
  

 

γ) 1,055,0
4

2,2

4

9,4


x

s
CV  

Άρα το δείγμα δεν είναι ομοιογενές 
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